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King ¥ahd University of Petroleum and Minerals
Prep-Year Math Program

Prep-Year Math 1
. | ) FINAL EXAM
Code: Masteﬂ] . Semester 1, 2003-04 | Code: Master_"
Saturday, J anuary 10, 2004
_Net Time Allowed: 180 minutes

Important Instructions:

1. All types of CALCULATORS, PAGERS, and OR MOBILES ARE NOT
ALLOWED to be with you during the examination. '

2. Use an HB 2%pencﬂ.

3. Use a good eraser. Do not use the eraser attached to the pencil.

4, Write your name, ITY number and Mathematics Section on the examination
paper and on the upper left comer of the answer sheet.

5. When bubbling your ID number and Math Section number, be sure that
bubbles match with the number that you write. '

6. The test Code Number is already typed and bubbled in your answer sheet,
Make sure that it is the same as that printed on your question paper.

7. When bubbling, make surc that the bubbled space is fully covered.

8. When erasing a bubble, make sure that you do not leave any trace of
penciling,

9. Check that the exam paper contains 35 questions.
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Lo A eqnaidon of & cirele thar has o diape i ' LT
e of & cirede thar has o dianeteor with endpoints (- 27) and

/ - -
{00 5 g

(:ZT -+ -_L)“) } (U N 2)3 =99

(b) (w--2)%4 (y—5) =23

2. The sum of all the rational zeros of the polynornial
Ple) = 62" +52°+ 72 + 50+ 1

is equal to

5
& =

13
b) -2
®) -3
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U = Is a factor of the polvnomial Pl

whore §

(b) 13+ 7

3 - 161

(¢} —14 — 167
(d) -8+ 54
(&) 17— 114

The solution set of the cquation

\/2—_1 -1 = \/JS —

contains

@ ne real numbers

(b)
(c)

two positive integers
only one negative integer
two negative integers

only one positive integer

y

/

Jan.

2018

T
V= Lothen the constant & is equal 1o

L7l

18 2684 WU3:19FM 3
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7
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oA Lothen £ M) -+

. - P

) - 1
(c) o #
(d 2 1
C TR -
‘ ) n4+ ] 7
(e) T 3 $7é 2

6. The solution set of the equation

t 20043 3l
tE3 P -t 12 14
containg

@ one n_egativg rational number

(b} one positive infeger

(¢) one positive iuteger and one negative rational number
(d) two negative irrational numbers

(&) two positive integers
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—_ s l} . =) - - - B .
oo e =Y wand gley = 27 250 then the dotmain, in interval notation.

of the funcrion = is equal 1o
g

(B) (—oc,—5)U(=3,3) U (3, 00)

(€) (—0e,—5) U(=5,4) U 4,5

8. The graph of |y ~ 2| = [2? + 1] is symmetric with respect to

the origin only

(b) the r-axis only
(¢) the yaxis only
(d) the z-axis and the origin

(¢) the y-axis and the origin
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SN 2L . : -
O TE b st 0t = 100 100 i divided by o Y90 then the quotient Q)

ard the remninder 2 are given by

4o’ 4 122y + Oy | Az - 9y°

The expression

(b) 2z — 3y
(¢) 4z — py + Oy

(d) 4w + oy + 9y

22 + 3y
2r — 3y

Ar? 4 Gxy ¢+ 9yt T 8xd —27ys

simplifies to
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1o The largest negative nteger that is a lower bound of the zeros of
Pl o ! 4 LY ol —=
(o) = 4x" 1227 3ac 122 7

ig equal Lo

(b) -1
(¢) —3
(d) -4

1
q: ] ] =&, it o < G Yy .
12, Let flz) = L J where [y] is the greatest
4 — 3z], itz >0

integer less than or equal to y. Then the value of f(—5) + £(5) is equal to

9

(b) 11
(c) —14
(d) 1.
) 2
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13, IE the graph of [y — ris rellecved across the z-axis, then transbatod

ane anit left and two units up, then the equation of the new graph is

() gtz = —lw—1 12
(b) glo) —{—z 1 1]+2
(© g@) =1 w-1/-2
() gla)= -]z -1 =2

() g(e)=—lz 2/ +1

14, The far-left and far-right behavior of the graph of the polynomial
Plr)=- 2z -3){z+1)*(2 -2

15 ag follows:

up to the left and up to the right

(b) down to the left and up to the right
(¢} up to the lefl and down to the right
(d) down to the left and down to the right

{e) none of the above
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15, The asymptores of the graph of the function
‘-‘[-.2 7 )
; . A e T T L
flo) — 47—
R I

are

one vertical.

(b) two vertical,
(¢) one vertical,
() two vertical.

(&) two vertical,

16, The expression

Loy

2
a0yR

N (in

(b) 22
Dep®

(_C) -
Y-

and one horizontal

and one horizontal

one stant, and one horizontal
and one slant

and neither horizontal nor slani

\:s/.y.o. 18
8y—3x—b

where 2 >0 and 3 > 0,

10 2004 @3:21PM P9I
IMASTER

simplifies
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170 A polviomial Plad of lowest degree and with real coofficlonts that has

the zeros =+ 1 ol multiplicity 2 and 3 of multipheity 1. 15 given b

by Plz)=a" - 324+ 223 —62° -1 —3
(¢) Play=2"—3z"— 22" + 62"+ 2 -3

(d) P(.r:) w7 4 Bt 9t — G —x —3

i

(e) Plz)= o5 4+ 32t + 228 + 628+ —

18.  The munber of possible positive and the number of possible negative
real zeros of the polynomial

Pley =5z + 1207 62" — 3w — 1

al'e

@ one positive, and either three or one negative zeros
(b) one positive, and three negative zeros

(¢} one positive, and one negative zeros

(d) one negative, and either three or one positive zeros

(e) one negative, and three positive zeros
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20.

Tl viebie of the constant A for which the lines (&
Sty STRE S

0!
3
() ¢
2
(c) 5
4
(&) 3
6
(e) 5
If fle) =
ﬂ 21
(b)y 25
(¢c) 32
(&) 0

0 are perpendicnlar s equal to

Jan. 160 2884 @9:23PM P2
VASTER]

D=3y + 1= 0 arcl

?lr P16, then the value of (fo f)(0) + F2(0) is equal to
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21, The polvnomial Pla) = 827 = te” 30 T has e zero between

@ —3 and -2
(lh) 1 and 2
(¢) —2 and —1
(d) 3 and 4

(¢} -1 and 0

22, If flz) =2 +1, 2 <0, then f7'(5) is equal to



FROM @ PREP-YEAR MATH PROG FrRx NO. @ BE9&E32c682979 Jam. 18 2864 89:24PM P4

, 1 of 18 MASTHR!
VAL 011031 (FINAL ENAM Pap 12 08 T8 MAsLTRR

. -y ; o " l : ] .

23 T{ oy auwd e are the rools of the cquarion o7 — 20 =20 U then - T

(d)y —1
O

24,  The solution set, in interval notation, of the inequality

(52 + 13) )
(z F4)a+ 3"~

s equal to




FROM @ PREFP-YEARE MATH PROG FRX HO. @ BE9e6386H2979 Jan. 18 26864 @9:24PM  PS

- o S i h ' ) '\"‘:‘ ‘
ALATTE 00101 TFINAL XA Page 13 of 18 | MASTER|

95, 10 (a.h) is the intersection point ol the graphs of [1(w) = 50 — and
Fota) = 2t L3 vhen oy b -

g(1 =+ J'z,)m— g(1)
h

96, Ifglae)=2"+2z | land b # 0. then i3 equal to

@ h—+4

(b) 2h+3

(¢y A 3
1)
(& h
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- ()
Wiich one of the Tollowing finetions represeits the given grap!

2T,
= 16 - z*
o T
(b) flo)= g3
2
(¢) J(z) - 160 — 2 -
.3
V) = 1
(("') .-/ “"’2" - _]_6 — 2
. ) 1 _ . ‘
28, The expression S simplifies 1o
T4 =
X

o 3r 45
{
(C) o+ 4
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of 15 centimeters. ach of the 1wo copal sices

90 A triangle has a perimeter
of the triangle is one-third the lengt hoof the third side. Then the product

of the lengths of all sides of the prinngle 1s

(d) 48

(e) 63

30,  If # is & real number, then the maximum area of a rectangle of fength
3= 27 and width 1 — 2 is equal to
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" et af e s 3t - B 0 Aws B then the
SL 10 2 is a zero of mltiplicity 2 of [y = das e Al

s of the constants A aucl 1315

—22
(c) 31
(d) 38
(e) 253

X =2 . :
92, The graph of the rational function  f{z) — A lies completely

above ilg slant asymptote on the interval

)

a) (—oc,0)

(b) (o0, ~1) 15 (0,1)
(©) (~1.0)L(L50)
(&) (=oe, ~1)U (L,50)

{e) (0.0
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33 The solubion set, in interval notation, of the inegialiny
e 122 =30 B

is equal to

(CD {" 1951

(d) [-3,4]

() [—2.4]
2 &
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| s 9p2 Lo ¢ intersects the
A0 1 the eraph of the quadratic function fle) = T o due ¢ ILeTSe

el R
oands ot Lwo ditfercut points. then ¢ s any namber in Lh(, inrerval

(d)

/"'_\ ,/'_\
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